PERCENTAGES: Find a percentage of a given amount (whole numbers)

Calculate percentages of given amounts. Round to 2 d.p. e

[1] 38%0f9356 = [21 3%of1489 =
[41 46%of 3136 = [51 54%of3386=
[71 19% of 5626 = [8] 78%of2292=
[10] 84% of 1198 = [11] 68% of 9066 =
[13] 70% of 3030 = [14] 79% of 460 =
[16] 68% of 6364 = [17] 26% of 2081 =
[191 47% of 4190 = [20] 93% of 7248 =
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Name:

3]

[6]

[9]

[12]

[15]

(18]

[21]

32% of 394 =

93% of 2674 =

80% of 183 =

7% of 4993 =

56% of 7669 =

44% of 1409 =

13% of 2227 =



ANSWERS

PERCENTAGES: Find a percentage of a given amount (whole numbers)

Calculate percentages of given amounts. Round to 2 d.p.

(1]

(4]

(7]

[10]

[13]

[16]

[19]

38% of 9356 =3,555.28

46% of 3136 =1,442.56

19% of 5626 =1,068.94

84% of 1198 =1,006.32

70% of 3030 =2,121.00

68% of 6364 =4,327.52

47% of 4190 =1,969.30

[2]

[5]

(8]

[11]

[14]

[17]

[20]
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Date: Name:

3% of 1489 =44.67

54% of 3386 =1,828.44

78% of 2292 =1,787.76

68% 0of 9066 =6,164.88

79% of 460 =363.40

26% of 2081 =541.06

93% of 7248 =6,740.64

3]

(6]

[9]

[12]

[15]

(18]

[21]

32% of 394 =126.08

93% of 2674 =2,486.82

80% of 183 =146.40

7% of 4993 =349.51

56% of 7669 =4,294.64

44% of 1409 =619.96

13% of 2227 =289.51



